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QUESTION 1

What is the maximum number of partitions that Linux kernel supports for IDE drives?
A.50

B. 15

C.74

D. 63

Correct Answer: D

QUESTION 2

Which of the following RAID levels provides block level striping?
A. RAID 4

B. RAID 3

C.RAID 5

D. RAID 6

Correct Answer: A

QUESTION 3

Which of the following commands is used to specify that the gpm service should be executed at run level 3?
A. chkconfig -- level 3 gpm on

B. chkconfig --level 3 gpm

C. chkconfig level 3 gpm

D. chkconfig

Correct Answer: A

QUESTION 4

Which of the following statements are true about rsync? Each correct answer represents a complete solution. Choose
all that apply.

A. It can use any transparent remote shell, includingssh or rsh.
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B. It does not support for anonymous or authenticatedrsync daemons.
C. It does not require super-user privileges.
D. It supports for copying links, devices, owners, groups, and permissions.

Correct Answer: ACD

QUESTION 5

Which of the following run levels start the system in single user mode? Each correct answer represents a complete
solution. Choose all that apply.

A.0
B. single
C.S
D.s
E. 1

Correct Answer: BCDE
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